Class 3"
Subtraction
Worksheet - 1

Ques 1: Subtract the following: 10 Marks

a. 4540 from 5640

b. 5675 from 7877
. 5454 - 758
. Smallest 3 digit numbers from 1000
. Largest 3-digit number and 1

Ques 2: Fill in the missing number: 5 Marks
TH H

6 9
-3 2

Ques 3: Match the following: 5 Marks
a) 4660 -1
b) 630-0
c) 5000 - 400 - 200 - 10
d) 8 Thousands - 4 Hundreds - 2 Tens - 1 Ones
e) 999 -9

Ques 4: Fill in the blanks: 5 Marks
. When we subtract one from the smallest 4-digit number we get

. The result of the subtraction problem is called the
. 1425 - =0

. 100 less than 9000 is

. 2345 -1000 =
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